M10291023

CLASS : 10"

Shift- 1

MATRIX
LYMPIAD

CSR Initiative of Matrix Education, Sikar to motivate and reward young talent.

¥ Total Questions : 70 ¥ Maximum Marks : 280 Vi Duration : 2 Hrs.

PAPER PATTERN
Part (1) Physics (1) Chemistry (1) Biology (IV) Mathematics (V) Logical Reasoning & 1Q
Number of 10 10 10 30 10
Questions

Marking Scheme: +4 For Correct Answer (One mark will be deducted for wrong answer)

1. ThisBookletis your Question Paper. DO NOT break seal of Booklet until the invigilatorinstructs to do so.

2. The Answer Sheet is provided to you separately which is a machine readable Optical Response Sheet (ORS). You
have to mark your answer in the ORS by darkening bubble, as per your answer choice , by using Black /Blue ball
point pen only.

3. Ifyouare found involved in cheating or disturbing others then your ORS will be cancelled.

4. Do not damage the ORS sheet in any manner. If ORS is damaged or not completed properly, your results will
not be prepared.

5. If you have any confusion in filling-up ORS sheet, please contact your invigilator. Incomplete ORS will be
not be evaluated.

6. Youcantake the question paper home once the ORSis submitted. @+ 5@

’l"E;:‘ RO L :;*:

Answer Key and Video

Piprali Road, Sikar, Rajasthan- 332001 | ® 01572-241911 | @ www.mof.matrixedu.in R odo and subsare

Matrix youtube channel

f @matrixsikar @ @matrix_sikar & @MatrixSikar e /c/matrixacademy



MATRIX: Where producing outstanding results is a habit!

JEE ADVANCED TOPPERS

AIR . AR AR | AR AIR AR AR
154 » 220 ! 296 396 398 (&) 415 . 421
3 (Gen.) (Gen.) (Gen.) (Gen.) -~  (Gen.)

h. | (Gen) T | (Gen)

1
With Xi With XiI T

Mayank Soni Priyanshu Meel Nagendra Singh Mohit Modi Aman Nehra Himanshu Rewar Aarish Uttam Paharia

JEE MAIN TOPPERS

100 %tile 99.99 %tile 99.97 %tile 99.98 %tile 99.97 %tile 99. 97 %etile 99.96 %tile 99.95 %tile

@ AR AR AR AR AIR AR AR
& 123 354 ! 213 393 426 478 & 509
rebn | (Gen.) JPWEA  (Gen.) (Gen.) (Gen.) %% (Gen.) (Gen) 7 (Gen)
15 (0BC) 55 (SC) 1
Mayank Soni Nagendra Singh Shailesh Saini Mohit Modi Aman Nehra Satyam Sharma Anupam Jakhar Uttam Paharia

NEET (UG) Toppers

Marks-680 Marks-670 Marks- 667 Marks-666 Marks-665 Marks-665 Marks-665

Rekha Nitharwal Narendra Farroda Mahendra Yadav Ankit Kumar Chahar Deepika Soni Lokesh Goyal Mohit Haritwal

KVPY TOPPERS

@ AIR ﬂ AIR AIR AIR
;W 6(Gen ) 8 (Gen.) 1 7(Gen.) N\ 4 37(Gen.)
: \EF Stream- SB 75‘ Stream- SB \ Stream- SB g‘ Stream- SB

Manas Jajodia Ishu Lakshaya Akshay Choudhary Chirag Indoria

znd ! znd 2nd ! 2nd : 3rd . 3rd

State Rank ) State Rank ™, State Rank State Rank ) State Rank J State Rank

2nd

State Rank

1st

State Rank

Class 12"

Aman Nehra Mayank Soni Dinesh Kumar Pranshu Bharia Shrishti Rohit Yadav Dev Kumar Mohd. Farhan

OUR BOARD TOPPERS
0

B
99.20% 98.80% 98.20% 98.00% 97.80% 97.80% 97.60% 97.60% 97.60% 97.40%

N A e
e e :

—~— \ )
[ Clss 10° Glss 10 Gl 12 Glass 12

Pinakin Choudhary Aradhya Raina Laxmi Vishal Choudhary ~ Preksha Singh Piyush Sagatani  Khushee Binwal Reena Siddhant Lalpuria Rohit Yadav

01 91 0r 02020005

i State Rank i State Rank x State Rank ‘ State Rank

Aditya Jhajhria Nayan Godara Aman Nehra Aaditya Pratap Mavank Soni Aditya B||arn|ya Pragah

Authenticity of result, promise of Matrix! Ig URvImT #fee & dadt Yearlong classroom
*cumulative result so far Program Students =7 & &

.00

S




Remarkable result growth in both JEE Main &

Advanced on a consistent basis

JEE Main
Qualified
students from
Matrix

2015 2016 2017 2018

Total students
qualified in

JEE Main

6700+

students have been
qualified in JEE main
from matrix till date.

2500+

students have qualified

JEE Advanced

till date — Highest
in Sikar

2000+

final admissions
in various top IITs
over last 5 years -

Highest in Sikar

3500+

selection in NIT/IlITs
and other or other
Prestigious Universities
Highest in Sikar

2019

1732

2020 2021 2022 2023

JEE Advanced

Qualified
students
from Matrix

2015 2016 2017 2018

"Authenticity of result, promise of Matrix”

HIGHLIGHTS at MATRIX

2023 resur

Top score in
JEE Main 2023
Mayank Soni

Rank- 34

Top scorer
JEE Advanced 2023
Mayank Soni

AIR- 26(Gen)

Matrix System has

produced one of
the highest

NDA

selections in Sikar

at a very early stage.

; Oselections

in NDA 2023
April attempt!

200 Doctors

in very
1st year of
Matrix NEET
Division

All India Rank 6

in KVPY 2021:
MANAS JAJODIA

55+ total selections
in KVPY over last

4 years 45"‘

The Most
INNOVATIVE
INSTITUTE for
NEET, JEE &

Pre-foundation
Covering & Serving

S

Major State of
the Country

2019

Note : All results are from Matrix year long classroom program at Sikar only.

523

2020 2021 2022 2023

“due to covid

More than

40,000

students have been
beneficiary of

Matrix system
till date

Matrix has the largest

pre-foundation career

program in Sikar with
highest number of
enrolment and top
results in all sort of

competitive
examinations.

Every student
matters! Every
student has
potential!

Highest quality
of management
and student care
for each student



7 {#* MATRIX
OLYMP!AD

Himachal

ssam
aaaaaaaaa

ddddddddddddd

Matrixians Studied at
lITs, NITs & llITs

across

INDIA

- M = .\
n s
L
oo i L
r.r_ m! o
n N -
m
m i =
— - i"—"—__

Piprali Road, Sikar, Rajasthan- 332001 | ® 01572-241911 | & www.mof.matrixedu.in

§ @matrixsikar @ @matrix_sikar ® @MatrixSikar ® [c/matrixacademy



OLYMP!AD

MATRIX

Class-X (Shift-])

PART I : PHYSICS

This section contains 10 Multiple Choice Questions (Q : 01 to Q : 10). Each question has four choices

(A), (B), (C) and (D) out of which ONLY ONE is correct.

1.

When a charge particle enters in a uniform mag-
netic field perpendicularly then its path will be ?
(A) Strainghtline

(B) Circular

(C) Helical

(D) Rectangular

If the beams of electrons and protons move
parallel to each other in the same direction than
they.

(A) Attracteach other

(B) Repel each other

(C) Norelation

(D) Neither attract nor repel

Two magnet field line.

(A) Intersect at the neutral point

(B) Never intersect each other

(C) Intersect near north pole or south pole
(D) Intersect at the midpoint of the magnet

The least resistance obtained by using 2Q2, 4Q2,
1Q and 100 Q resistors is :

(A) <100Q

(B) <4Q

() <1Q

(D) >2Q

xxxxx 110291023 **55*

1.

9 PIS ARG BV T FAM Jabid &3 4
TR YT BRAT & I IHDT U BN 2
(A) R @

(B) gome@R

(C) gusdirg

(D) IMIATHR

I gas R U & R0 Th TR B
HAFIR U & fa=n d =eril & O 9 U gax
Pl—

(A) HT PR B |

(B) uftrefid oxell 1

(C) ®1$ Fay 78 2 |

(D) =1 @1 erfia A1 & ufsiia st €1

31 IBIY FeT YWY—

(A) T g W ufoees ol 2|

(B) & N gfaesg 78 B ¢ |

(C) STR ga A1 fRY0T ga W Yl Hdh ¢ |
(D) 9@ & weu fag wR ufdrese ol 2 |

20,40, 1Q T 100 Q & UfoRIEN &1 FASH
IR gATH YRGBT A 817 |

(A) < 100Q

(B) <4Q

(©) <1Q

(D) >2Q
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Work of 14 J is done to move 2 C charge

between two points on a conducting wire. What
is the potential difference between the two
points ?

(A) 28V

(B) 14V

(C) 7V

(D) 3.5V

The value of resistance, whose V-I graph is given

belowis:

[a—
AL

I[(Ampere)
(@)}

0 5 10 15 20  Yolt

(A) 5/3Q
B) 3/5Q
(C) 5/2Q
(D) 2/5Q

xxxxx 110291023 **55*

) @reTes AR & <1 favgali & Heg 2 dad™ &
T B YaTed B &g 14 SfeT b1 BRI PRI
Tsal ¥ | S el & "oy favarR @1 A
I |

(A) 28V

(B) 14V

(C) 7V

(D) 3.5V

39 ufeRie &1 a9 gt V-1 amp 9 € |

[a—
AL

I[(Ampere)
(@)}

0 5 10 15 20 Yolt

(A) 5/3Q
B) 3/5Q
(C) 5/2Q
(D) 2/5Q
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Match Column — I with Column — II and

select the correct answer using the codes

given below.

Column-1I Column - 1T

P. Convex lens 1. Virtual image equal
to size of object

Q. Concave lens 2. Virtual image
smaller than object

R. Plane mirrorT 3. Virtual image
larger than object

Code :

P Q R

A2 3 1

B3 2 1

<3 1 2

™1 2 3

Which of the following statement/s is/are

True(T) or False(F) ?

(i) The speed of light is more in glass then in
water.

(ii) Water is optical denser than glass.

(iii) Lighttravelsatalower speed in water then
air.

Code :
(i) (i) (iii)

(A)T F F

BT T T

OCF F T

®)yF T F

xxxxx 110291023 **55*

fau g eI iR Dfem—I1 @1 Sfera A
PN UG fdbed gy IR <IfoTu—

Column -1 Column - IT
P. S i 1. JMRA 9 I B
JNMBR B RIR Ul

Q. 3G | 2. il g 9vg |
Bl fafdg

R. el gUol 3. 9l g 9%g |
g1 gfdfde

Code :

P O R

(A)2 3 1

@)3 2 1

3 1 2

1 2 3

foT v A—eraw doHl § W Sfud faden
ggarg—
(i) B ¥ Tbre B R ST J A B E |

(il) ST B BT 37Uer 3ffeIH FET BT € |
(iii) UPT A B JAT H ST H BA A A

AT & |
Code :

() (i) (iii)
AT F F
BT T T
CF F T
DO)F T F
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Paragraph for Questions 09 & 10

The spherical mirror forms different types of
images when the object is placed at different
locations. When the image is formed on
screen, the image is real and when the image
does not form on screen, the image is virtual.
When the two reflected rays meet actually,
the image is real and when they appear to
meet, the image is virtual.

A concave mirror always forms a real and
inverted image for different positions of the
object. Butif the object is placed between the
focus and pole. The image formed is virtual and
erect.

A convex mirror always forms a virtual, erect
and diminished image. A concave mirror is used
as doctor’s head mirror to focus light on body
parts like eyes, ears, nose etc., to be examined
because it can form erect and magnified image
of the object. The convex mirror is used as a
rear view mirrors in automobiles because it can
form an small and erect image of an object.
When an object is placed at the centre of
curvature of a concave mirror, the image
formed is -

(A) Larger than the object

(B) Smaller than the object

(C) Same size as that of the object

(D) Highly enlarged

xxxxx 110291023 **55*

Paragraph for Questions 09 & 10
EEEEARCIRE RUISIRANCI AV ISIRN IR KICAN
g =1 geR & fafew g 2 | o9 ufafes
g IR 991 & a1 gfifew ardfde 2iar B iR 59
yfcifer o R E e & o wicife Ry Biel
g1 99 Q1 YIRS Aol arad #§ e g, @
gfafdw ar<Ifde sIal & 3R 1d 9 ferdl g8 wed
BIAT 8, A1 uffa=s sl 81 & |

srade |uur g aeg @ fafr= Refal & forg
IR IR SeteT ufafdw a=aT & | @ifes afe awg
D1 BIhY 45 3R g & 1< I@T1 SMY 1 g arefl
fifers STTReY 3R e &1 7 |

I UV Fad IR, Higm e vl ufafes
AT B | 3Tadel YU B ITAT TTaeR & R &
YU & B H INR & I S MG, B, 1 IS
TR YHTY dbiad B & oy fan S &, ®ifs a8
T BT 1 3R I1 IR 1 e B | A
U1 BT IUA Sferardse § fIe Sxg+ arol U
S WU H a1 S & aifd I8 G 9% @1 8Iel
3R e ufiferg av1 Havan B |

19 {1 g% Bl Tael UV B ehell s UR X

ST © a1 ufafess &1 emer—

(A) d%g 9 g1 &M
(B) 9% ¥ Bl 81N
(C) &g & MBR & RGBT
(D) srcafére st &rm
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10.  Achildis standing in front of a magic mirror. 10.
She finds the image of her head bigger, the
middle portion of her body of the same size
and that of the legs smaller. The following is
the order of combinations for the magic mir-
ror from the top.

(A) Plane, convex and concave
(B) Convex, concave and plane
(C) Concave, plane and convex

(D) Convex, plane and concave

xxxxx 110291023 **55*

U gl Ueb SiIgs SUVl & AT WS &, S 37U
R &1 gfafes g1, IRR & |79 91T &1 gfafds
A MTHR BT T U &1 gl srer o 2|
FW B AR A SIgs YU P FIIST Bl HA
frefaRad 32—

(A) THId, <A, JAT Ifdde

(B) S<I4, J1adel 9o |@Hdd

(C) 3radd, HHd Tl S

(D) S<Id, gHde dan Jfddd

Space for rough work
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PART II : CHEMISTRY

This section contains 10 Multiple Choice Questions (Q : 11 to Q : 20). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

11.

12.

13.

14.

When lead nitrate reacts with potassium iodide,
then the reason of formation of yellow
precipitate is -

(A) Pbl, is formed

(B) KNO, is formed

(C) Pb(NO,), is formed

(D) PbIO, is formed

Which of the following is not achemical change ?
(A) Souring of milk

(B) Dissolution of sugar in water

(C) Rustingofiron

(D) Digestion of food in our body

Which of'the following reaction evolves heat ?
(A) C+0,—> CO,
B) CH,O, + 60, — 6CO, + 6H,0

(C) CaO + H,0 — Ca(OH),
(D) Allofthese

Complete the chemical reaction
Mg(s) + H,SO, (aq) — ?

(A) MgSO, +H,0

(B) MgSO,+H,0+ 0,

(C) MgSO, +H,

(D) Noreaction

xxxxx 110291023 **55*

11.

12.

13.

14.

19 oIS A1gge 3 AAfehar qrefRne smrsss
% A1 HRART SN § 79 Ulel T & 37aeg g9
H BRI B—

(A) PbL@T =11

(B) KNO, 1 g+

(C) Pb(NO,) @1 g

(D) PbIO, &1 &=+

1 5 | P uRade wifee gRade 78T 87
(A) g @1 WeeT &

(B) @ &1 S § g

(C) dg R S o=l

(D) TR IRR H 4N BT gra

o 7 9 PR arfafshar So fAepTRig Rl B—
(A) C+0, - CO,
(B) CH,_O, + 60, — 6CO, + 6H 0

(C) CaO +H,0 — Ca(OH),

(D) Swiwm a4l

o <rTIfYE e @1 qof fefig—
Mg(s) + H,S0, (aq) — ?

(A) MgSO, +H,0

(B) MgSO,+H,0+0,

(C) MgSO, +H,

(D) &% sifaforar =&t |

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”




15.

16.

17.

MATRIX

Class-X (Shift-])

OLYMPIAD
Which acid is used in flavoured drinks ?

(A) Boricacid
(B) Carbonic acid
(C) Sulphuricacid
(D) Oxalicacid

The pH of Ba (OH), solution s :
(A) 4

B) 13

© 1

D) 7

Match Column — I with Column - IT and
select the correct answer using the codes

given below.

Column - 11

1. Displacement

Column -1
P. C+ 0O, - CO,

sunlight

Q.2AgBr =&t 5 2, Combination

2Ag+Br,
R.Zn+ CuSO, — 3. Decomposition
ZnSO, +Cu
Code :
P QO R
A2 3 1
B3 1 2
<3 2 1
2 1 3

xxxxx 110291023 **55*

15.

16.

17.

wregad U vl H b e b1 wAI fhar
ST 8

(A) aIR® 3/

(B) wHEife o

(C) ARIRSE 3+

(D) 3maiferd 3rd

Ba(OH), @@= &1 pH grm-
A) 4
B) 13
©) 1
D) 7

fag 7 Siew-1 3R Piem-11 @1 Sfaa e
PN UG fdbed gy IR SIfoTu—

Column - 11
1. faRemu= arfafsan
2. gIroE srfafshan

Column-1I
P. C+0,— CO,
Q.2AgBr sunlight
2Ag+Br,
R.Zn+ CuSO, —
ZnSO, +Cu
Code :
P
(A) 2
B) 3
) 3
(D) 2

3. fage fafeha

»—-[\)»—-wm

R
1
2
1
3

Space for rough work
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19.

20.
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Which of the following statement/s is/are 18. U U G-I doAl § ¥ Sfa fdwey
True(T) or False(F) ? EAT+TI—
Plaster of Paris is obtained : R JAh URE T el 2—
(i) By adding water to calcium sulphate. (i) BfcaTT Fobe § ST BT ] ASH
(ii) By adding sulphuric acid to calcium (i) BT TESTTISS H AHRIND 3 Bl
hydroxide. SIS |
(iii) By heating gypsum at 100°C. (iii) ST @1 100°C R ™ HRA W
Code : Code :
() (ii) (iii) () (i) (iii)
AT F F AT F F
BT T T BT T T
C©F F T C©F F T
M)F T F M)F T F
Paragraph for Questions 19 & 20 § Paragraph for Questions 19 & 20
Water of crystallisation is the fixed number of 3‘; AU B b YA 3PTs H ol D FARRIE aropdi
water molecules present in one formula unit of g D1 T DI e B STl B8l S 8 | B
a salt. Few salts loses water on heating and § AU T B TR S S B 3T BT BT
convert to dry salt. = PR A © TAT Y A9 H gRafid 8 S B |
The difference of water moleculesingypsum ¥ 19. o7 den WiReR oif URA & srosii 4 o1 &
and plaster of paris is : x JMRAT BT FEAT H AR B—
(A) 52 (A) 52
B) 2 B) 2
(C) 112 (C) 112
(D) 32 (D) 3/2
Washing soda has the formula : 20. o799 Al B G o

(A) Na,CO,.7H,0
(B) Na,CO,.10H,0
(C) Na,CO,.H,0
(D) Na,CO,

(A) Na,CO,.7H,0
(B) Na,CO,.10H,0
(C) Na,CO,.H,0
(D) Na,CO,

Space for rough work
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PART III : BIOLOGY

This section contains 10 Multiple Choice Questions (Q : 21 to Q : 30). Each question has four choices

(A), (B), (C) and (D) out of which ONLY ONE is correct.

21.

22,

What marks the beginning of the reproductive
life of a woman ?

(A) Menopause

(B) Menarche

(C) Fertilisation

(D) Gestation

The image shows the formation of spores in

rthizopus.

Sporangium Spores
Hon

2§

How spores develop into Rhizopus ?

(A) Spores divide and grow into new
individual.

(B) Spores combine with other spores and
Zrow.

(C) Spores enlarge in size for the growth of
new individual

(D) Spores land on other organisms and

increase with their growth in size.

xxxxx 110291023 **55*

21.

22.

T ARl & YST Sila Bl YA Bl Ui
g7

(A) ThfEf

(B) IoieeH

(C) frrem

(D) Tfafd

e Trgeio # oy Ao geriar 2

Sporangium Spores

g

NESIERIE TN I e B CEa S R

(A) d] faIfoTe 8T B SIR Y Sitg 7 faafid
B B

(B) dISTY] 3= IST] & |1l Hed) faaiRad
B % |

(C) T 9 & e & forg ST R
IS B O B |

(D) dITY] 319 Sid R U 9§ SR IAd
afg & T 9ed 2|

Space for rough work
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Identify the two components of phloem tissue 23. TAA Sdd B Gl GCH! DI GEA DIQ I
that help in transportation of food in plants. gredl § 9o @& URaeE H 8@ ©
(A) Phloem parenchyma and sieve tubes (A) FArIH WRHTSHI 3R AT Aferdn
(B) Sieve tubes and companion cells (B) Tt AfA®T IR FERIH BIRIHIT
(C) Phloem parenchyma and companion cells (C) IR IR=PHIgAT R FEISH HIRIHTY
(D) Phloem fibres and sieve tubes (D) TAIH HISR (RR) AR =Tt Aferadmy
Which row in the table below shows the 24. QS ARV § AT Ofd H A9 9 AR @
correct products of anaerobic respiration in JATIAR Ta9H & QRIF §91 el 3G Gy
humans and in yeast ? T B
P Q R S P Q R
Humans carbondioxide v " v v Humans carbondioxide v " v v
TG F DIETSSRIES TG F PIETSSRIES
Yeast carbondioxide v 3 Yeast carbondioxide v
e f st X X X z e ; st X X X
x
(A) P S (A) P
B) Q § B) Q
(©) R e (C) R
=
D) S x (D) S
x
x
Which structure help inincrease the surfacearea | 25.  ®1RI ST Ui HioH & sraeier @ farg

for absorption of the digested food.
(A) Vvilli

(B) Appendix

(C) Liver

(D) Pancreas

TdE &7 BT g H ASq Pl § 7
(A) (faeh) qeroad

(B) ofed aReIfe

(C) Tpd

(D) SRR

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”




26.

27.

MATRIX

Class-X (Shift-])

OLYMP'AD

Which one is the correct option for barrier

method :

(A) Oral pills - Change the hormonal balance
inmen.

(B) Copper T - to prevent fusion of male and
female gametes.

(C) Surgical method to block artery and veins.

(D) None ofthe above

Match Column — I with Column — II and

select the correct answer using the codes

given below.
Column-1I Column - 1T
P. Clottingofblood 1. R.B.C

Q. Oxygenated blood 2. Platelets
R. Defense from
microbes
Code :
PO
A2 1
B3 1
<1 2
D)3 2

3. Leucocytes

—_ W N W

xxxxx 110291023 **55*

26.

27.

THERIT & fofg 771 9 | draar ey 92

g 7?

(A) 9@ 9 <l I arell Mfed — gwul |
BT gRad |

(B) @R & — TR G AIGT JHD] & Al DI
NEEIN

(C) @ity fafd — e 9 RRT &1 srag
BT |

(D) SWRIad § 4 BI3 W 72 |

37 77 Bicw-1 iR Bfaa—I1 &1 Sfd fem
PN UG fdbed gy IR SIfoTu—

Column -1 Column -1I1
P. ®fER BT ep 1. RB.C
Q. 3T ad 2. wicecd
R.geq ofidl 9 Qrem - 3. gdhidrse
Code :

P O R
(A2 1 3
@3 1 2
<1 2 3
M3 2 1

Space for rough work
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28.  Which of the following Statement/s is/are
True(T) or False(F) ?
(i) Glucose __Stodlsn s Pyryvate
— Mitochondria_ FEthanol + CO,

(i) Glucose _Stovlsn o Pyruvate

— s> Ethanol +CO, +Energy

absenceof O,

iii) Glucose __Cytoplasm ruvate
(iii) — Cvtoplasm

Inmuscle
Lackof O,

Code :

() () (iii)
(A)T F F
BT T T
OCF T T
O)yF T F

Lactic acid + Energy

Paragraph for Questions 29 & 30

Loss of water in the form of vapours through
the leaves of the plants. This process help in

taking water from soil to tip of plant.
T (STeT )
Leaf
(ufxy)

A > Water (SeT)
N
Observe the following diagram and identify the

process and its significance from the following

option :-

xxxxx 110291023 **55*

28.

ey ¢ wa—sra @Al § 0 SR fdded

EEEIRIS

(i) “IPI _aifw g= | qrEEHdT
e | gerEre + CO,

(i) "D _ i g A G e
g + CO, + ol

(iii) P _ 3w 5= IS %?ﬁ%%%

cifde® ot + FHofl
Code :

() (i) (iii)
(A)T F F
BT T T
O F T T
D)yF T F

Paragraph for Questions 29 & 30

Uy B Ufcrdl B §RT STel B a9 & w9 H
T Bl B | I8 ufohan 9a1 9 o &1 I a&
PR S H HEIH Bl ¢ |

(Sret areD)
_>

/T
Leaf
4 (af)
j}/ﬁer (SteT)
X

f&r T R B ggErd g @9 wEw@ @ forg
UgAE BR Ael fdbed Bl g |

Space for rough work
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MATRIX
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Correct option for process is :
(A) Evaporation

(B) Transpiration

(C) Excretion

(D) Translocation

Significance of the above process is :

(A) Maintain water contents in leaf.

(B) Create a suction force which pulls water
inside the plant.

(C) Helpinexcreting out waste water from the
plant.

(D) Helps in transporting materials from one

cell to another.

xxxxx 110291023 **55*

29.

30.

& faded BrT—
(A) Ao
(B) arsiearsts
(C) S

(D) grearfo

SR Ufshdl & forg He<ra Brm—

(A) Tl # Sl ARl BT T @ |

(B) UIEY ¥ U T Bl IA HIAT o™
S BT Grag 2 |

(C) ey | Y Wt BT IcANTd BT |

(D) 3Taed® ygrdl ®I Ydh PRSI F TEN
BIRBT F ARV R H TSP ¢ |

Space for rough work
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MATRIX

Class-X (Shift-])
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PART IV : MATHEMATICS

This section contains 30 Multiple Choice Questions (Q : 31 to Q : 60). Each question has four choices

(A), (B), (C) and (D) out of which ONLY ONE is correct.

31.

32.

33.

34.

The sum of first 50 odd natural number is :
(A) 2500
(B) 2400
(C) 2600
(D) 2300

The common difference of an A.P. in which
a,—a,=—52is:

(A) 4

(B) 4

©) =3

D) 3

Cost of 2 apples, 3 bananas and one coconut
is Rs 26. Also the cost of 3 apples, 2 bananas
and two coconuts is Rs 35, then the cost of 12
apples, 13 bananas and 7 coconuts is :

(A) Rs172

(B) Rs148

(C) Rs143

(D) Rs126

If the points (1, p), (5, 2) and (9, 5) are col-

linear then the value of pis :
Ay 2
() 3

-5
B) B3

xxxxx 110291023 **55*

31.

32.

33.

34.

g 50 favd urga dwEmelt &1 IRTEe 3
(A) 2500
(B) 2400
(C) 2600
(D) 2300

FATR SN BT ArdR B o
a,—a,=-528

(A) 4

B) —4

€ 3

D) 3

2 ¥4, 3 dall aUl U AIRIA DI HIAd 26
T 8, 3 |l 2 Dol AR ]I ATRIA B B
W 35 9 2| 99 12 @i, 13 @i 3R 7
TIRTAT BT HAT B

(A) Rs172

(B) Rs148

(C) Rs 143

(D) Rs126

Zﬂ?ﬁ% (1, p), (5,2)6ﬁ'\’(9, S)Qﬁ@ g, Fﬁp
B 9 8-

5
) 3

-5
®)

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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36.

37.

MATRIX
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©) -1 ©) -1

D) 1 (D) 1

The sum of three numbers in an A.P is -3 and

their product is 8. Find the numbers.

(A) 2,-1,-4
(B) —4,-1,2
(C) 4,-1,-2
(D) Both (A)and (B)

In the following system of equations, determine
the value of 'k' for which the given system of

equation has a unique solution.

2x—-3y=1
kx +5y=7
(A) k;t_?s
®) k>
(©) k¢_?3
(D) k%

If the sum of the roots of the equation ax>+ bx
+ ¢ =0 is equal to product of their reciprocal
then

(A) a2+bc=0

B) b*+ca=0

(C) ¢2+ab=0

(D) b+c=0

xxxxx 110291023 **55*

3S.

36.

37.

I fasll FARR 210 & < A8l &1 ANThd
—3 % 3R S9! o 8 B | I e s
fopfoTe—

(A) 2,-1,-4

B) 4,-1,2

(C) 4,-1,-=2

(D) < (A) R (B)

fe 1 wHieRr gl & fow 'k @1 4 9

BTG R forg weienvor 7l &1 &t ffgcii
- 2x—3y=1
kx +5y=7
(A) k;t_?s
B) k;’&%)
(©) k¢_?3
(D) k;t%

FHIBRUT ax’>+ bx + ¢ =0 Al B ANTH,
ITd GehH D UGBS S FHM 8 a9 —

(A) a2+bc=0
B) b*+ca=0
(C) ¢2+ab=0
D) b+c=0

Space for rough work
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39.

40.

MATRIX
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A bus takes 5 hours more than a train to cover 38. MM A YU @1 900 AL @ g TF PRA |
the distance of 900 km from Assam to Pune. UH 99, YTl | 5 °v¢ e F97g ol & |
If the speed of the train is 15km/h more than gfg IFMST B T, I Bl TTT F
that of the bus, then what is the speed of bus 15 f&H1 /9vel Afd® 8, a9 a9 & a7 &1
per hour ? gRl ?
(A) 60km/h (A) 60km/h
(B) 75km/h (B) 75km/h
(C) 55km/h (C) 55km/h
(D) 45km/h (D) 45km/h
If the difference of two numbers is 5 and 39. <1 IR @1 iR 53R SHAB al @ iR
difference of their squares is 300, then sum of 300 8, 99 RN BT ANTh 3—
the numbersis :
(A) 1500 : (A) 1500
®) 6 : ®) 6
©) 12 S ©) 12
(D) 60 § (D) 60

=)
If32 =3v'v = /37, then what will be the = 40, &R 35 =3v= (37,79 3 &1 a9 T
value of 3%V ? % BRI ?

1
@ 75
®) 3

1
© 5
D) 3

1
@ 7
®) 3

1
© 5
D) 3

Space for rough work
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MATRIX Class-X (Shift-1)
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IfA, B and C are interior angles of a AABC, 41. afe A, B3R C, AABC & 31<I:®I0T § da—
then-

sin BL)—cot(é) sin BL)—cot(é)
(A) 5 5 (A) 5 5

o 23] -3 o 23] -3
B) 5 5 B) 5 5

sin % —cosec(éj sin % —cosec(éj
©) 5 > ©) > 5

sin A+C)—COS(E) sin A+C)—COS(E)
(D) 5 > (D) > 5

- ol afe = p-l,
If secH +tan@=p, then p2+1_° 42, sech +ttang=p, dq p2+1_'
(A) tan0 g (4) tan0
(B) seco 5, (B) seco
(C) sing S (C) sing
(D) cos6 X (D) cos0O
=)
-

Ifacos +bsin® =m and asin® —bcosO =n, ? 43, If& acos@ + bsin® =m 3R asin® —bcosO =
then a’+b*=? % n d9 a’+b*=?

(A) m?>—n?

(B) m?*+n?

(C) m’n?

(D) None of'these

(A) m?>—n?

(B) m?*+n?

(C) m’n?

(D) 3 & BIE A

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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46.

MATRIX
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In figure LM | | AB, if AL =x-3, AC =2x, 44. %ﬂ'lﬂﬂ'l’\’ LM ||AB, af¢ AL=x-3,AC =2x,
BM =x-2 and BC = 2x + 3, find the value BM =x-2 3R BC=2x+3 d9 X &I 99 3d
ofx: PRI—

B B
(A) 7 (A) 7
B) 8 B) 8
©) 9 ©) 9
(D) 10 (D) 10
Two towers of heights 10 m and 30 m stand on 45. 10 ¥ex 3R 30 Hiex 318 dldt ]I SfaR FAded
aplane ground. If the distance between their % T R TS 7 | I S Uk fagei & 9=
feet is 15 m. Find the distance between their é N 15mze | 376 RReRl & 789 0 9 &)
tops. 8 -
(A) 10m & (A) 10 #rex
(B) 20m S (B) 20 #iex
(C) 30m : (C) 30 #ex
(D) 25m 1 (D) 25 AR
If 3x+5y=8and 7x —3y=4thenx +y="? 46. IR 3x+5y=83R7x-3y=4Tq@x+y=?

@A) 0
B) -1
(C) 2
D) 1

@A) 0
B) -1
(C) 2
D) 1

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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MATRIX
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If the HCF of 152 and 272 is expressible in the 47. AR 152 3R 272 & 9.4, B 272 x 8+ 152x
form 272 x 8 + 152x, then x will be : P BY H Ad {HA1 S FHa1 B, a@ x  8N—
(A) 2 (A) 2
19 19
B) =27 B) =27
19 19
©) 2B ©) 2B
19 19
(D) =20 (D) =0
19 19
Find the smallest number which when increased 48. Jg BICI ¥ BIKI ¥ [S9H 17 98 &R d8
by 17 is exactly divisible by both 520 and 468 : 520 3R 468 &1 9§ fa9ad 81 SI—
(A) 4680 (A) 4680
(B) 4663 § (B) 4663
(C) 4669 5, (C) 4669
(D) 4763 S (D) 4763
o
If o, B are the zeros of the polynomial p(x) = g 49. IR o,p IFIC p(x) = 4x>+3x + 7 B LATH B
4x%+3x + 7, then l+l =? ? Fl‘s[l+l =7?
a P % a P
(A) 7 (A) z
3 3
(B) =l (B) =l
3 3
(®) Kl (©) 2
7 7
D) 2 (D) 2
7 7

Space for rough work
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If one zero of the polynomial f(x) = (k*+4)x>+
13x+4k is reciprocal of the other, then k=?
(A) 2

(B) 2

©) 1

(D) Both(A)and (B)

Column-II gives the coordinates of the point P
that divides the line segment joining the points

in the given ratio given in Column-I, Match

them correctly.

Column-1I Column - 1T
55

P. A(-1,3)and 1. 55

B(-5.6) internally

inratio 1:2
Q.A(-2,1)and

B(1.,4) internally

inratio2:1

2.(0,3)

R.A (1,7)and

B(3.4) internally
intheratio 3:2
Code :

P 0
A1 2
B) 3 1
)2 3
D)3 2

— = N W

xxxxx 110291023 **55*

50.

51.

I Tgue f(x) = (B+4)x> + 13x+4k &1 TH

IRIH SA BT GohA § a9 k=?
(A) 2

B) 2

©) 1

(D) (A) 3R (B) <

Ffe-11 fog P& fdens <ar & o sfem-14
fag g fovgal @1 e drel Y@Rgvs 31 fay
QU | IR PRaT &, S FE e
N |

Column - 11

%)
L1757

Column -1

P. A(-1,3)aiR

B(-5,6)®11:2
SENCEIN G|

Q.A (-2,1) 3R
B(1,4)®12:1 3
SENCEIN G|

2.(0,3)

R.A (1,7) 3R

B(3.4)®13:2H
3r=a: fqwrer
Code :

P
(A) 1
B) 3
(C) 2
(D) 3

l\)b)»—ll\)m

R
3
2
1
1

Space for rough work
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52.

MATRIX

Class-X (Shift-])
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Match Column — I with Column - IT and
select the correct answer using the codes

given below.

Column-1I Column - 1T

P. Ifa =5n-4isa 1.8
sequence, then
a,ls-

Q.Ifa =3n-2 then

the value of

2. 56

a,+98 is-
R.Thesecondterm 3. 117
ofthe sequence
defined by
a =3n+2is
Code :
PO
(A2 3
B) 3 1
<1 2
1

R
1
2
3
(D) 2 3

xxxxx 110291023 **55*

52.

3T 7Y Biew-1 iR Biaa—I1 o1 Sfad e
PN UG fdbed gy IR <IfoTu—

Column-1I Column - IT
P.afda =5n-4 1.8
e ool 8 a9

alZ%_
Q.af¢ a =3n-2 2. 56
e ool 8 a9

a,+98 =28-
R.af¢a =3n+2 3. 117
gRT g Aol

@1 fgdia ue 5 |
Code :

P O R
A2 3 1
B)3 1 2
<1 2 3
M2 1 3

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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Match Column — I with Column — II and

select the correct answer using the codes

given below.
Column -1 Column - 11
1
P. If tanA = —, 1. 1
NE)
tanB = \/§

then tan (A+B)is

. 1
Q.If sina = ER 2. Notdefined

1
cosfP = 5 where

o and [ are acute
angle, then

sin(a + B)="7?

N | W

R.Ifm tan 30° 3.

cot60° =sin45°

cos45°, then the

value of m will be
Code :

P 0
A2 1
B3 1
<) 3 2
D)2 3

.—..—.[\)ww

xxxxx 110291023 **55*

53.

fau g eI iR Dfem—I1 @1 Sfera A
PN UG fdbed gy IR <IfoTu—

Column -1 Column - 11

P. Ife tanA=L, 1. 1

3

tanB=+/3 7
tan (A+B)="?

1
Q.3 sinoc=5, 2. IURHTG

1

5
STt o iR B
DI B,

dg sin(a+B)=?

cosP} =

N | W

R. 3T mtan 30° 3.

cot60° = sin45°
cosd5°dd m BI

A B |
Code :

P QO R
A2 1 3
B3 1 2
<3 2 1
D2 3 1

Space for rough work
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MATRIX
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Which of the following statement/s is/are 54. fou U W@ deEl # 9 Sfud fawey

True(T) or False(F) ? RECIIEIC

(i) Iftwo zeros of a polynomial x>+ 2x>— 5x (i) I IguR X*+2x2 - 5x— 6 & 1T LD —
— 6 are—1 and -3, then the third zero is 1 1 3R -3 2 a1 TRRT g7 1 8hT 2 |

(i) Ifone zero of the polynomial p (x) =(a’+9) (i) I 98U p (x) = (a>+9) x> +45x + 69
x2+45x + 69 is reciprocal of the other, B TP LAH TR LD BT IShA B,
then the value of a will be 3. ddg a &1 A —3 B |

(iii) Zeros of cubic polynomial x*—6 x>*—x + (iii) BreEm@ 9gus X -6 x2—x + 30 & LD 3,
30 are 3, 5 and 2. 53R 2 2

Code : Code :
() (i) (iii) () (i) (iii)

(A)T F F (A)T F F

BT T T BT T T

C)F F T C)F F T

M F T F M F T F

Which of the following Statement/s is/are 55. fou U W Nl # 9 Sfud fawe

True(T) or False(F) ?

(i) Theareas of two similar triangles are 121
cm?and 64 cm’respectively, if the median
of the first triangle is 12.1 cm, then the
corresponding median of the other triangle
is 8.8 cm.

(i) Let AABC~ADEF, Ifar (AABC) =
100cm?, ar (ADEF) = 196 c¢cm? and
DE =7 cm then AB will be Sem.

(iii) IfAABCand ADEF are triangles such that :

AB_BC_AC 4
DE EF DF 7 ten

ar(AABC) _ 4
ar(ADEF) 7

xxxxx 110291023 **55*

REEIIEIC

(i) <1 EFRY BYSl B aFhd HHe: 121 cm?
3R 64 cm? B | IS verd ST P Arfege
121 cm 99 8 1 g By &1 |7a
Aifeaet 8.8 |HT BT |

(ii) =T AABC~ADEF 32 &=%af (ADEF)
=100 3 &=hat (ADEF) = 196 cm?3iR
DE=7 ¥ @@ AB=5 3 8177 |

(iii) AABC 3R ADEF <1 T 39 UaR & fo—

AB_BC_AC 4
DE EF DF 7 ten
ar(AABC) _ 4
ar(ADEF) 7

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”




MATRIX

OLYMP'AD

Code : Code :
() () (iii) () (i) (iii)

(AT F F (AT F F

BT T F BT T F

O F F T (O)F F T

MD)F T F MD)F T F

56.  Which of the following statement/s is/are 56. fau U W@ weEl # 9 Sfud fawe

True(T) or False(F) ? TEAT+Tu—

(i) The value of P, for which—4 is a zero of (i) 989 p(x)=x>-2x— (7P +3) B U YD
the polynomial p(x) = x>—2x— (7P + 3) —4 3 P& A -3 BRT |
will be 3.

(i) The decimal expansion of rational number (i) R < 124 T T TR, ST
% is non terminating decimal number. % S ngll

(iii) In AABC,AD 1 BCand AD’=BD.CD, & (iii) AABC §AD 1 BC3iR AD*=BD.CD
then the value of ZBAC is 90°. g ag Z/BAC &1 919 90°% |

Code : g Code :
(i) (i) (iii) ? (i) (ii) (iii)

(AT F F i (AT F F

BT T T BT T T

OF F T OF F T

MF T T MF T T

Space for rough work
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MATRIX
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Paragraph for Questions 57 & 58

A aeroplane leaves airport and flies due north
ata speed of 600 km/h. At the same time, an-
other aeroplane leaves the same place and flies

due to west at the speed of 800 km/h as shown

1
below. After 3 ) both the acroplanes reaches

at point P and Q respectively.
Based on the above information answer the

following questions.

AP Yot

Distance covered by aeroplane towards west

after 35 hours.

(A) 1600 km
(B) 2800km
(C) 2250km
(D) 2625km

xxxxx 110291023 **55*

57.

Paragraph for Questions 57 & 58

TFh BAT TETSl BA18 JISS W fdardr ¥ QiR
600 fHH/gver & T F SR B AR Il
2| S |HY, IR BAT SfETSl Sl WM W
uf¥ed @1 3R 800 km/h 1 71T & Il B, Ol

ﬁsﬁaﬁﬁ@wél%werrq’a‘m‘im

TETSl B P 3R Q W UgAd T |
FWR T TG AEBRI B IFAR T ue B
SRMEUN I

S S 3% o v # A A T
@_

(A) 1600 km

(B) 2800 km

(C) 2250km
(D) 2625km

Space for rough work
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59.

60 .

MATRIX
OLYMP'AD
Area of APOQ is- 58. APOQ &1 &9%a 28—
(A) 2940000 km? (A) 2940000 km?
B) 179000 km? B) 179000 km?
(C) 186000 km? (C) 186000 km?
(D) 2025000 km? (D) 2025000 km?
Paragraph for Questions 59 & 60 Paragraph for Questions 59 & 60
In a cinema hall people are seated at a distance R 8= | AT BT Uh—goR 9 1 Hiex a1 0
of 1m from each other, to maintain the social TR JSTIT ST & dlfdh PR IRk 98N] &
distance due to CORONA virus panedemic. PRI FHEITS G IAY G S b | A4
Let three people P, Q, R whose cordinates are I o P, Q iR R s fAdene waen
(6,-2),(9,4) and (10, 6) respectively. (6,-2), (9, 4) 3R (10,6) T
Based on the above information answer the SUYRT DY & MR W g1 Bl STarg
following questions. H g
The distance between P and R is : % 59. PSRRI P 25—
(A) /5 units g (A) /5 units
(B) 445 units o (B) 445 units
(C) 345 units g (C) 345 units
(D) None of these % (D) 7 | BIS &I
¥
The ratio in which Q divides the line segment 60. T8 U 5 Q, P 3R R | 7+ aTdd
joining Pand Ris : RETEUE Bl AW war g—
(A) 1:3 (A) 1:3
B) 3:1 B) 3:1
€) 1:2 €) 1:2
(D) None of these (D) 7 | BIS &

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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PART V : LOGICAL REASONING & 1Q

This section contains 10 Multiple Choice Questions (Q : 61 to Q : 70). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

61.  Find the wrong term in the following series. 61. f=foRad sjga 7 Tod ug 91d dIfY |
MDH, NFE, OHC, PED, QBF MDH, NFE, OHC, PED, QBF
(A) MDH (A) MDH
(B) NFE (B) NFE
(C) OHC (C) OHC
(D) QBF (D) QBF
62.  Find the next number in the series. 62. STl H T H&T S DI |
7,13,28,53,110,? 7,13,28,53,110,?
(A) 216 (A) 216
(B) 213 i (B) 213
¥
(€) 215 o (©) 215
(D) 214 e (D) 214
X
63.  Selecttheoption that represents the lettersthat, = 63. 9% fided BT 92 B Sl 99 J&RT B FIHId
when placed from left to right in the blanks ? HA1 B, A1 A Qg Y Rad e 9 919 9 |1
below will complete the letter series. X Y S WR AR el Bl GRT B |
WA D BC_ W CDWDC_ WA D BC W CDWDC_
(A) CWDCD (A) CWDCD
(B) CWDCW (B) CWDCW
(C) CWCDC (C) CWCDC
(D) CWCDW (D) CWCDW

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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65.

MATRIX
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A man walks 7 km towards North before tak- 64. TP Hfad IR IR0T 3R G W Ugel 7 km IR
ing left turn and walks further 5 km. Then he 1 3R Foar B 3R R M1 5 km =eran 2 | iR
takes left turn and walks 15 km. Finally he takes T8 9101 IR I & IR 15 km Feld B | 31
left turn again and walks 5 km. Now how much H g8 fR IRt IR Fsal § 3R 5 km <rer 2 |
distance is he away from the starting point ? 39 I8 IR g A fhat A w5 ?
(A) 8km (A) 8km
(B) 12km (B) 12km
(C) 15km (C) 15km
(D) 22km (D) 22km

Direction (65-66) : In each at the given questions, Ader: (65-66) v T yd® yo9 4 v a1 Sifdd
one or more statements has been given FHeT S B¥P gIg Ay Q7 77 &1 3T
followed by two conclusion. Find which oI & AT 10 Aspal 4 & Bl 9 81
of the given conclusion is true. §
Statement : X>Y>7Z<A=B>C 5, 65. P X>2Y>Z<A=B>C
Conclusion : () X>B (i) Z>C S frerd : () X>B (i) Z>C
(A) Only (i) is true § (A) Bae (i) T
(B) Only (i)is true S (B) dad (i) 2
(C) Neither (i) or (ii) is true i (C) = ar () & (ii) T
(D) Both (i) and (i) are true T (D) (i) 3R (i) A we &
Statement: F>V=T>G<L<D=S 66. HYA: F>2V=T>G<LLD=S

66.

E=Q<T<N
Q>P=W
Conclusion: (i) D>N (1) F>W
(A) Both (i) and (ii) are true
(B) Both (i) and (ii) are not true
(C) Only (i)istrue
(D) Only (ii)istrue

E=Q<T<N
Q>P=W
fied : )D>N  ([i)F>W

(A) (1)3AR (i) <1 v B

(B) (i) 3R (ii) THT w7 7T 7
(C) @aa (i) 9T &

(D) @aa (i) 9

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”




67.

68.

69.

MATRIX

OLYMP'AD

In a row of students, Mohan is the 13" position 67. faenfeii @ ue ufdq #, Argd @1 Rafa 9rf

from the left end. Suman's position in the same AR W 1397 8 | gad 1 Reyfa s ufda & i

row is 12 from Right end and 18 from left IRF 2T T I IR 9 18T | AGA B

end. How many students of Mohan's right ? SR} AR H fba faemef 5 ?

(A) 30 (A) 30

®) 15 B) 15

(©) 16 (C) 16

(D) Can't be determined (D) FeiRa 781 o S |abar

A is 13" place from top and B is 18" place 68. A HADR Y 13a T BB HA A 4 18

from bottom. When they interchage their posi- I B | 519 9 3MYF H YT X gEerd ® al A

tion then A becomes 21% place from top. What BN HH SR A 21 I 8 A & | A BB =8

is the new position of B from bottom ? Rerfd @ grlY 2

(A) 270 ! (A) 270

B) 26" : B) 26"

(C) 25% § (C) 25"

(D) 28" g (D) 28t

A, B, C,D, E andF are sitting around a circu- E 69. A.B,C,D,E3iR Fuad g<i 491 & 9aRI 31

lar table and all are facing towards the centre. % 93 B AR 99 BT @ bs I AR | A, EIF
¥

Aisbetween E and F, E is opposite D and C is
not on the neighbouring seat of E, So who is
opposite to B ?

@A) C

B) D

(C) F

D) A

@ dra ¥, E,D & fqudiq 931 8, C, E &1 usri
e R 781 8, Al B® fquRd &9 & ?

(A) C
B) D
©) F
D) A

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”




70.

MATRIX

Class-X (Shift-])

OLYMP!AD

In following question given below, one
question and two statement numbered 1
and II are given. You have to decide
whether the data provided in the statements
are sufficient to answer the question or not.

Read both the statements and give an

appropriate answer.

Question: What is Divya's age ?

Statement-I : Divya is 10 years younger to

her sister Disha.

Statement-II : Disha is 25 years younger to

her mother and 30 years younger to her father.

(A) The data in statement-I alone is sufficient
to answer the question.

(B) The data in statement-II alone is sufficient
to answer the question.

(C) The data in statement-I and statement-II
together are sufficient to answer the
questions.

(D) The data in neither statement-I nor
statement-II are sufficient to answer the

questions.

xxxxx 110291023 **55*

70.

= v v fA=feiféya go= A, U g9 a1
gt @ I @on I Ry 71w &8 39 fAvfg
ffore f ol 7 Rar wam 3iipe 999 &1
v 39 P forv gafa & a1 98 g FYA
! g2 3 Sfag SO &/

g Rem Y Sy R B ?
Pl : ey o gg R 9 10 a9 Bt B

HAA-11 - Qe oA /f 9 25 a9 BT B &R

3o o & 30 a9 8IS T |

(A) dad HE-1 # QY Y sffhs U= &1 SR
< @ oIy T 2 |

B) daa dU=-I1 § Ay U 3ffws wed &
IR <1 & forg gata 2|

(C) F¥=-I den w11 7 Ry U offes U
AT HAB U BT SR o & oy g
g |

(D) =1 @ A1 R 1 P11 & Ry 7Y
3ffre U F1 IR <7 B forg wafa 7|

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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